F Series

pak=X
Sceos CNEESE  \ | MDC2, SSD2, STM, LCR, LCG, LCM
S — | =2
SCM X% 87 770| YLt
Jﬂ — i ) c €
MDC2 & P | y
‘/J ) . f/»
SMG ey & I
# Vi o
P ;.'{-,'P" //,,
SSD2 - - rﬂgf' ;’ r\..:"
# FV ~ &
ST F%S FXYV F3YH
Aft FH
STG =]
3= FHH 244
LCR e FOH/V F2H/V-F2S F2YH-F2YV F3H/V-F3S F3PH-F3PV F3YH-F3YV
2 o2JaHE AESY ME Z2JHHE HEED, 201
LCG | =l - NPN £ PNP &3 NPN £3
Hel My - DC10~28V DC4.5~28V DC10~28V
LCX =5t mot DC24V | DC10~30v | DC24V10% DC30V 0[5}
2ot M2 5~20mA®Y 50mA 0[5}
LCM AH| 2 - DC24V0{|A 10mA 0|5t
i Z¢5t KQt 4V 0[5t 0.5V 0[5t | 30mAOfA{ 0.5V O[3 0.5V 0|3}
STR2| 5,12 ZMLEDONY I H5)™  [SW=MLEDONE HE5) ZA[LED(ONY 1f H5)™ HA=4 LED(ON [} 55)
VRLy _TEEF 1mA 0|3} 10uA O[5}
2= 20| 1m(LHRA HIY Z4EFO]0] FE 34 0.15mm?) 1m(LHR-d HI'E HEN0|0] ZE 34 0.15mm’)
Gre _2H=7 294m/s? | 980m/s’
ol x{5 DC500V H7HojlA 20MQ 0[4
=l EA Y AC1000V 127} 0 &0 ig %
A 91%| EETTEYS -10~+60C
MN3E B3 31X IEC 72 IP67, JIS CO920(HZI3), LIS
MNAE | "5 95 8|2 g2 -
scrp | 2 1m:10g 3m :29g 1m:10g 3m: 299
F1: 85t HF Z|HX| 20mAE 25CY MYLICH AKX AL 9| 27} 25TEL E2 ZL0= 20mAL L LOFFLCE (60CY [ 5~10mARILILY.)
\AGAR | T2 F2S, F3SOIN 172 S0I ASIR| 27HE BIAHSID et 4SS HAIY B2, MO A9IX| 1Y LIS} BIZES HH=S Eifsiol FUNL.
3 F2S, F359| EAISS HAfQILICE
Z4: F3PH-F3PVO| Mg MRIE| HIE 47 MAOZ THSEILICH
MNAGAB | Z5: 7HHIE] S1&F AIRIC| AQIX|S HER 20|o) FHAIL.
76: T HS =0) oA 316pageS AXal FHUAIL.
i
S oy R
2t
FR | @FXHAZZ(E|EM AEZ0|E EtY) @ FXV A[Z|Z(2|E4 LA EHR)
XMoIR I LIAKM2) T LIAM2)
otz = s i s ®
LIV FOH:9.5 FOH. 95 1
FHF3HS | M S FHF3H:5 | 41M &=
IR B
< 4»3747 (p2.7 &)
Alje
HEEZ mt ﬂ —
<
CES —
HH H
= L‘J 167 16.7
IjEl- - : >
=4=]
_. @ FXYHF3PH A2IX(2[=M AEH0|E EHY) @ FXYV-F3PV A|2|X(2|=4 LX} EfRl)
o 94 23 LiAM2) 25 LikKm2)
otged | 1 A Y =
o s o
oay 5 A S 5 A 4
A
 — ~
iVERS] 3 9
Sjg 2 Aj—ﬁ S
[ts} -
<
HY | ¥
4. L 21.2 RE
34 CKD



F Series
LiE s|2E

AO|% H 35
AR HE 3|2 SCPD3

@FO0H-FOV OF2YH-F2YV @F3YH-F3YV OF3P SCM

MDC2

SMG

SSD2

STM

STG
LCR
LCG
LCX
LCM
STR2
MRL2

GRC

Algig
ARIX|

MN3E
MN4E

4GA/B
M4GAB

NMN4GA/B

-
Ed
B

=1
=g

oo
or21
MM

ozt
TTo
AN
ojof 228
iy

2=

Y

CKD 315



